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import java.util.Scanner; &

public class First{
public static void main(String[] args){ T
Scanner input= new Scanner (System.in); // Grade f//

String name;

int grade;

name=input.next(); (aﬂdfjfﬂL’
grade=input.nextInt(); o
if (grade>=50) /z pass //
System.out.printIn( "Pass");

}
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import java.util.Scanner;
public class First{
public static void main(String[] args){
Scanner input= new Scanner (System.1in);
int x;
x=input.nextInt();
if (x % 2 ==0)
System.out.println( "Even");
if (x % 2 ==1)
System.out.println( "0dd");
if (x==0)
System.out.println( "Error");
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import java.util.Scanner;
public class First{
public static void main(String[] args){
Scanner input= new Scanner (System.1in);
String name;
int grade;
name=input.next();
grade=input.nextInt();
if (grade>=50)
{
System.out.println( "Name :"+ name);
System.out.println( "Grade="+grade);
System.out.println( "Pass");

}
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import java.util.Scanner;
public class First
i
public static veoid main(string[] args)
i
Scanner input= new Scanner (System.in);
String name;
int grade;
name=input.next () ;
grade=input.nextInt () ;
if (grade>=50)

System.out.println( "Pzss");
else

System.out.println( "Fail");
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if (Logical Condition)

{

Statmenti;

Statment2; // byl Giai Wi gy Jea

¥
Else

{

Statmenti;
Statment2; // Syl Giat anes adis J by Jes
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next statement; // Lol dam ge Hhaill ok WAAE S dleall 028
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public static void main(Stringl[] args)
1
Scanner input= new Scanner (System.in);
String name;
int grade;
name=input.next () ;
grade=input.nextInt () ;
if (grade>=50) {

System. cout.println( "MName:"+name) ;

System. out.println( "Grade="+grade)

]

System. out.println( "Pass");

}

el se

1

System. cut.println( "MName:"+name) ;

System. cut.println( "Grade="+grade)

N

bystem.out.println{ "Pass") ;
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if (Logical Condition) if (Logical Condition)
{ Statmenti;

Statmenti; Else

Statment2; {
} Statmenti;
else Statment2;

Statmenti; }

next statement; next statement;
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import java.util.Scanner;
public class First{

public static void main(String[] args){
Scanner input= new Scanner (System.1in);

double mb = @,ns = 06,mm=0, zk=0;
System.out.print( "mb=");
mb=input.nextDouble();
System.out.print( "ns=");
ns=input.nextDouble();
if (mb>=ns)
{
zk = mb * 0.025;
mm = mb - zk;

System.out.println( "mb= " + mb);
System.out.println( "zk= " + zk);
System.out.println( "mm= " +mm);
}
else
System.out.println( "No zakat");

3}
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import java.util.Scanner;

public class First{

public static void main(String[] args){

Scanner input= new Scanner (System.1in);

String name;

double sal=0, net=0, tax=0 ;
System.out.print( "Enter Name");
name=input.next();
System.out.print( "Enter Salary");
sal=input.nextDouble();

if (sal<=500)

{
tax = sal * 0;
net = sal - tax;
¥
else
{
tax = sal * 0.05;
net = sal - tax;
¥
System.out.println( "name= " + name);
System.out.println( "net= " + net);
System.out.println( "tax= " + tax);

}}

1

Tax=Sal*0

Tax=Sal*0.05

Y

Net=Sal-Tax

Net=Sal-Tax
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